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GCSE Mathematics - Numeracy Unit 1 Intermediate

All Candidates' performance across questions
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GCSE Mathematics - Numeracy Unit 1 Intermediate
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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By how much is the adult charge too high?
You must show all your working. [3+20CW]
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Marked set by willir










By how much is the adult charge too high?
You must show all your working. [3+20CW]

£ EER—











2(b)
(Adult extra 10% of £5.60 is £) (0.)56
(Adult with extra 10% is £) 6.16
OR
(Adult pays too much by)
6.4(0) — 5.6(0) — (0).56

(Adult pays too much by) 24p or £0.24

Organisation and communication

Writing

Bl

Bl

Bl

ocC1

w1

Ignore units. (£)1(.)12 implies 56(p)
(£)12.32 implies (£)6.16

FT ‘their 56p’ provided 10% of £5.60
attempted

CAO. BO for 48(p)
If units are given they must be correct

Penalise units not given in (OC)W

For OC1, candidates will be expected to:

* present their response in a structured
way

+ explain to the reader what they are doing
at each step of their response

* lay out their explanations and working in
a way that is clear and logical

* write a conclusion that draws together
their results and explains what their
answer means

For W1, candidates will be expected to:
* show all their working

» make few, if any, errors in spelling,
punctuation and grammar

* use correct mathematical form in their
working

* use appropriate terminology, units, etc.
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Sticky Note

A correct response.
B1 B1 B1

Subtraction showed a negative, with a correct interpretation.



Sticky Note

Clear to follow, working shown and labelled, with a final conclusion.
OCW2 is awarded.










By how much is the adult charge too high?
You must show all your working. [3+20CW]




Sticky Note

The candidate correctly calculates £6.16, however transfers this as £6.14.
Care should be taken.
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Sticky Note

Marked set by willir










By how much is the adult charge too high?
You must show all your working. [3+20CW]
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Sticky Note

This candidate has not engaged with the 10% difference.

They have only calculated the difference and not answered the question.

B0 B0 B0 is awarded.



Sticky Note

Calculations are shown and labeled, units are given and a final conclusion is given.

OCW2 is awarded.










(b) In this part of the question, you will be assessed on the quality of your organisation,
communication and accuracy in writing.

Theo looks at the charges with a 10% contribution towards improvements.

Theo says,
‘The adult charge with an extra 10% is not right. It is too high!’

By how much is the adult charge too high?
You must show all your working. [3+20CW]

Examiner
only
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(c) The gardens at Castell Gwynhir cover an area of 714000 m2.
Water ponds cover % of the area of the gardens.

Calculate the area covered by water ponds.

Area covered by water pondsis ... . ... M2










(c) The gardens at Castell Gwynhir cover an area of 714000 mZ2.

Water ponds cover % of the area of the gardens.

Calculate the area coverad Y pepds. [2]
FAETG000

%=102000
2(2 =004 000










What is the total cost of Mr Graham’s order? [4]

2k b2k YUm”  carere
KX











2(c) Intention to calculate
714000 x2 + 7

204 000 (m?)

M1

Al

May be seen in stages

Sight of 2/7 x 714 000 is insufficient for
M1, there must be an intention to +7 and
x2, e.g. allow from sight of incorrect
responses 24000, or 2 x 12000

Mark final answer

© WJEC CBAC Ltd.











Q2c
(c) The gardens at Castell Gwynhir cover an area of 714000 m2.
Water ponds cover % of the area of the gardens.

Calculate the area covered by water ponds.

Area covered by water ponds is S |



Sticky Note

A incorrect method.
Needed to be divide by 7 and multiply by 2.
The candidate has reversed the operations through misunderstanding.

M0 A0 is awarded.










(c) The gardens at Castell Gwynhir cover an area of 714000 mZ2.

Water ponds cover % of the area of the gardens.

Calculate the area coverad Y pepds.
o FEIG000

Area covered by water ponds is 7 O L* OOO



Sticky Note

A correct method and a correct calculation.

M1 A1 is awarded.













Sticky Note

A correct first stage,
2/3  x  6  = 4

Followed by a correct second stage,

4 x 45 = £180

M1 m1



Sticky Note

The candidate states correctly that the standard delivery charge is £35, but incorrectly decides to add £45 instead.

Hence m0 and consequently A0, as this is correct answer only.










(c) The gardens at Castell Gwynhir cover an area of 714000 m2.

Water ponds cover % of the area of the gardens.

Calculate the area covered by water ponds. 2]
Area covered by water ponds is ... M2
05 © WJEC CBAC Ltd. (3310U30-1) Turn over.











Calculate the volume of the concrete base.
You must show all your working. [4]











Calculate the volume of the concrete base.
You must show all your working. [4]

T ——

Volume of concreteis .. ... ..M










What is the total cost of Mr Graham's order? [4]

................... Bt B = e FmaS s

Total costis € .. T4 .











8(a) (Total area =)

15x15 + 4x5 or 20x4 + 11x15
or 20x15-11 x5 or equivalent
(Volume = total area) x 0.2

(Volume =) 49 (m?)

M1

M1

A2

Note: check diagram for the area
Accept any correct area calculation

Allow for ‘their total area’ x 0.2 where ‘their
area’ includes a product, or for one
rectangular (or square) area x 0.2

FT from 1 measurement error in a sum or
difference of two products, i.e. only one
measurement incorrect within one product
(MO M1 A2 is possible to award)

Al for calculations with evaluated terms as
shown (in bold and underlined)

FT from M1, MO
(area 225+ 20 or 80 + 165 or 300 - 55)
245(m?°),

OR

FT from M1, M1:

for one area product correctly evaluated
within ‘their area’

AND x0.2 correctly evaluated

45 + 4x5x% 0.2 (m°), or

15x15x0.2 + 4(m>), or
16 + 11x15x0.2 (m®), or

20x4x0.2 + 33(m°), or
60— 11 x 5 x 0.2 (m*), or

20 x 15 x0.2 — 11 (m°)

Accept implied correctly evaluated area

product, e.g. 4x5 + 15x15 = 20 + 125
=145

With 145 x 0.2 = 29 (m®), award M1, M1,

Al (although 125 is incorrect)











Calculate the volume of the concrete base.
You must show all your working. [4]




Sticky Note

This candidate is not working with area.
M1 M1 A0 is awarded.










Calculate the volume of the concrete base.
You must show all your working. [4]

T ——

Volume of concreteis .. ... ..M



Sticky Note

The area is 
15 x 15 + 4 x 5, however this candidate believes the area is more complicated than this.

M0



Sticky Note

5 x 5 is not equal to 20

5 x 5 = 25



Sticky Note

The candidate believes the area of the base is 1440 (units??), so multiplication by 0.2 to find the volume is a correct method to follow through with,
M1



Sticky Note

A0 is awarded, due to the number of errors in the method for finding the area of the base.










What is the total cost of Mr Graham's order? [4]

................... I T

Total costis € .. T4 .




Sticky Note

A correct solution

2/3 x 6  = 4
and
4 x 45 = £180

Add then the delivery charge,
£180 + £35 = £215

M1 m1 m1 A1 is awarded










14

8. (a) The concrete base of Miss Morgan’s new bungalow is shown below.

B 20m .
A
4m
-
5m 15m
Y
Diagram not drawn to scale
The concrete base of Miss Morgan’s bungalow is 0-2m thick.
? 0-2m
Diagram not drawn to scale
Calculate the volume of the concrete base.
You must show all your working. [4]

14
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11(b) 72 + 0.8 or 100 x 72 = 80

(£) 90

M1
Al

Accept an unsupported answer of (£)90
Allow M1, A1 for (£)90 found from trial &
improvement

© WJEC CBAC Ltd.







8(b) 2/3 x 6 OR 2/3 x 45
x 45 x 6
or equivalent

+35

(£) 215

M1
ml

ml

Al

Allow sight of 2/3 of 6 or 2/3 of 45
(=4 x 45 0r 30 x 6 or 2/3 x 270)
(= 180)

Intention to add 35
Depends on M1 only

CAO

© WJEC CBAC Ltd.







9. 49x 20
(= £) 980
% Interest 980 - 400 (x100)
400
or 980 (x100) - 1(x100)
400

145 (%)

M1
Al
ml

Al

FT ‘their 980’ provided M1 previously
awarded

Award m1 for complete method to show
what percentage 580 is of 400







Original price of the speaker is £ 86 L!—O










Original price of the speaker is £ 86 LQ—C}



Sticky Note

Clearly no understanding of reverse percentage.

A correct first step is to think of £72 as 80%.










21

Examiner

(b) Kingsley buys a portable Bluetooth speaker. only
The speaker has been reduced by 20% in a sale.
He pays £72 for the speaker in the sale.
What was the original price of the speaker? 2]

21
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(b) Mr Graham is building a garage.

A concrete mixer lorry holds a maximum load of 6 m3 of concrete.
There is a fixed standard delivery charge of £35 per load.

The concrete costs £45 per m3. (S)") (%)
Mr Graham orders % of the maximum load of concrete for the base of his garage floor.
What is the total cost of Mr Graham’s order? [4]

15

Total coStiS £ oo,
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Olga took out a high-interest loan for £400.
She paid back £49 per month for 20 months to clear the loan.
Calculate the total interest that Olga paid as a percentage of the original loan. [4]

La420.3Q%0. .\t =4o











Olga took out a high-interest loan for £400.
She paid back £49 per month for 20 months to clear the loan.
Calculate the total interest that Olga paid arcentage of the original loan. [4]




Sticky Note

49 x 20 = £980

Correct, so M1 A1 is awarded.



Sticky Note

The candidate does not apply correct thinking to find the percentage.
They have not interpreted their idea of working with percentage parts correctly.



Sticky Note

With accuracy, 240% is incorrect, and a correct interpretation a correct response of 145% could have been found.



Sticky Note

Not a correct calculation to find the percentage.

The difference is 
£980 - £400 = £580

The calculation should be
100 x 580/400

However, had the candidate calculated 100 x 980/400 and then subtracted 100% they could have arrived at a correct response.
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Olga took out a high-interest loan for £400.
She paid back £49 per month for 20 months to clear the loan.
Calculate the total interest that Olga paid as a percentage of the original loan. [4]

16
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